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{ 6. The circle C has equation

¥+ —6x 410y +k =0 g
where k 1s a constant.
{a) Find the coordinates of the centre of C. :

(2)
Given that C does not cut or touch the x-axis,

(b) find the range of possible values for .
3)
xtytaLx 10~ + k=0

A ST A I TN A
o4 X ‘ NN

(7&"3)1"1' 9 + ('31-632--).5 +R=0

P

!

Yy~fe D= ‘\/(Rtt---h) |

(1) The (radaisd mucst be>0 o 3k >0 > <3k

So cedve ts ok (3 -5) aup wt

Bles. M iiacde poool: pob-Toud: ov colk M scpyit "

S»o'¢‘<#¢dxx+wce_a‘jﬁ-4c&uﬁ<{;wu)uxms R
(b cs 5)

S0 N(3u-2) <5

24 - <25

R 79

So Me ramge foo & o5 AL R<30 .

Wras

T B A N N N A B B 1 A A A3 e A B N N 5 B T AT U S TP NSNS 0, 2.0 rr—— PR
T —— AN L T AT T SN B

7 vaur SHLNLADEm TONOE /o .

sl O -



